T AN— MNEH) A

<PlEE1 > <fE 2 >
wOMAFE ABCD Ofiz ke X, Mg y=x2—4dx & x @i, EHR x=5 CTHENT 2 2O OEREOF S &R X,
()
7T NIED XSRS,
£,

HEE, W<OPDE AT THEL, FhOoDOMTROBZ LNRTEXBH ! |

<#E 1>
M y=2x—8 & x i, EM x=2, x=5 THEN 2 >DOWHOEMDOF S KD L,
(fif %)

T 73D E DI B,
k-oT, S= S dx+S dx /

: ./

)Y

%z S=13




T AoN— MNE#E) B

<filgE 1 >

xR

Hif y=22—4x—5 & x BHOIAT D 2 BEAEE KD K, \ /

BiRe s EOEESD ¢ BET, y=0 2 ThITRHDBHZEBTXBH ! 1
= =0 oFE~ FEXD

<#E 1>
HifR y=x3—32242x & xHHOIA HD 1 EEZRD X,
(fiR’%)

23 —3x%4+2x=0 LV

EZzx=0, 1, 2

<iH 2 >

(1) Mg y=2"—4x2 4+ x4+6 & xEHOILA HO x HEZ R D K,
(2) iR y=a3—4x248 & x O IA LD x FEEEZ KD X,

Hint : ¥ T O ZFHE P.56 OFIE 10
(f72%)
@

(1) x==1, 2, 3 (2 x=2, 1+.5



% 23— MNEE) C

<filgE 1 >
1.0012—0.001% A Z1& ¥ k.

<HE 1>

a+pB=2, ap=-3 DL x, KOXDOHEERD X,
(1) a*+p° 2) a’+p8° 3 a'+p
(fiR %)

(1) a’+pB2=(a+p)*—2ap

Zz (1) 10

(2) 26

3 82

A
kol
il
[N}

>

<1 2ﬁ>3+<1+¢_> EREEL, £7, <1

LB L,

—/3

2

>4+<1+2ﬁ>4 2 L,

&z ElC

vo| ot

|~



